N = 0l & At & Ml A

2N nEHAHY
HH: NSAL(+SLUS/HEUE - S7SIIE
SR DNEANE SFFH (S HA)
SAH-AH -2 (SA) - HREAY - BES Ol A o4 IR Hns2
nsHF 20,872,523 17,462,043 3,410,480
= 100,000 100,000 0
Xl 60,000 60,000 0
== 388,014 388,014 0
Al 20,324,509 16,914,029 3,410,480
nE2(=sLNE/HENE - 2 FRSIIE) 14,729,934 14,569,934 160,000
= 100,000 100,000 0
Xl 60,000 60,000 0
< 388,014 388,014 0
Al 14,181,920 14,021,920 160,000
nNSAE s8ZEH 3,154,798 2,994,798 160,000
Xl 60,000 60,000 0
& 96,000 96,000 0
Al 2,998,798 2,838,798 160,000
WNEANEE 22| 2,480,348 2,400,348 80,000
401 Al HI L 201 Y| 2,313,268 2,233,268 80,000
01 Al &bl 2,300,850 2,220,850 80,000
ODNFA Rolx=g o XY &3
23 310,000,000 310,000 250,000 60,000
ORYE2d X3 AIRA 2122
20,000,000 = 14 20,000 0 20,000
nNEEAN =HE 314,450 234,450 80,000
401 AIEHIL 20| 100,000 20,000 80,000
01 Al Bl 100,000 20,000 80,000
OSYUFEHX ROk A|AE(CCTV) &X
40,000,000 * 204 A 80,000 0 80,000
HHSHHAH (LS D) (IIEH/IIE 142,589 142,109 480
ol 2 FH| 31,449 30,969 480
ol 23 31,449 30,969 480
101 2124 d| 31,449 30,969 480
03 I HLZ2ZAHE 31,449 30,969 480
O2Y = -8 o gREX 31,449 30,969 480
- tEY 1,920 1,440 480
cEMAYE A 33 1,440,000 1,440 960 480
MReEs(DsddN)(+sYdus/Hsus - =2=8SIIE) 6,000,000 2,750,000 3,250,000
WEAHHX = 6,000,000 2,750,000 3,250,000
HEHH K& 6,000,000 2,750,000 3,250,000
701 Bt HSHES 6,000,000 2,750,000 3,250,000
01 JIEtS HNME = 6,000,000 2,750,000 3,250,000
OFXNEEEIH HE3 4,750,000 1,500,000 3,250,000
— OIS BYFINE ZHANY
33 1,750,000,000& 1,750,000 1,500,000 250,000
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